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I 21 mwn: dental 'mn which justify 122 nonw / Dwp 1110
a  Gums (p’vin): outer ones that were cut or leveled down; inner ones must be fully uprooted
b  X7n7 we do not inspect from the molars inward — and the molars themselves are not checked
c 77 Nnoown (after correction):na is molars — any damage from that point in is only sufficient if fully uprooted
i N(D)¥1977 12 Y112 /7. even outer gums aren’t sufficient; but if inner ones are uprooted, does invalidate animal
ii ~ &72n7 inner ones are of no consequence, even for 9709
II 2R "v's question: is a missing “limb” which is internal considered 7ax 10NN?
a  Not asked: about 1121 (v. 1 — only external) or n”mva (v. 2 —same); just to invalidate from nam
i Lemmal: v. 3 stipulates mnn — if it’s missing something, no longer nnn
ii ~ Lemma2: rest of phrase sets up o'nn in apposition to D — just as mn is external, so N only requires external
1 Proposed solution: v. 4 indicates 2 kidneys (excluding 1 or 3) yet kn»92 - reading 70’ - allows for 1
2 Resolution: dispute - missing internal organ =7ax 701nn —and all agree that it can’t be born with just 1
(@) Rejection: (agree - can be born with 1 and ®"0mnn Mn ©2192n R"0INN) if born with 1 - fine; if lost — invalid
(b) Block: 1 (xn»12#1)::3 — born with that # - yet it is invalid
(i) Rather: dispute is whether it could be born with only one
3 jpnr /7 agree that it can’t be born w/1, and R"oynn Mmn 2910 7ar Npaon - #1- lost before nonw; 42 — after
(a) Challenge: if someone cuts the 3”11 79’s ear before nTh nYap, invalid, per v. 5 — must be 190 — as before
(b) Rather: before/after nTn nYap
(i) Challenge: per v. 6 demands that nw remain on and Mmw 11 until 77771
(if) Defense: referent is mw 11 (per X171 — we count hours for the year(s) of nwp)
1. Support: yviiv *1 — all M129p may be brought as long as there is 1 n13 of meat left
b Suggestion: the answer is subject to dispute »aR1/nmn> " in re: v. 7
i /7 “r these mmn are also in testes
ii ~ »7an7 only in penis
iii  ’p» 77 MmN YN apply to both, M1 pIma — only to penis
1 Assumption: N 1 maintains that X"0ynn mn 02910 on and »”ar" disagrees
(a) Challenge: what, then, is »ov "7’s position?
(b) Rather: they disagree about defining 531w nnn:
(i) 77 N Pyn are visibly contracted; M7y pim are hanging >both 0"
(if) »7ax7 in all cases, no o, as it could be that way without having been damaged
(iii) »o» 77 MmN Pyn are a o0 inside — as they aren’t there; M121 pin are present = no on
IOI n mwn: omn around the genitalia which justify 7121 nonw / pwp 11979
a  Sacks: if the sack which holds the member or the vaginal area (for pw1pn) has any missing flesh
i w7772 only the sac and only a piece taken off; else, it will restore and is only 121y D
1 pbwnin 13 o1 7. story of one that was bitten off by a wolf and restored itself
b Tail: if one of the segments of tail-bone is missing — but not flesh between the segments
i Or:if the head of the tail is split (i.e. the skin and flesh are split off and only bone remains)
ii ~ Or:if there is at least a fingers’ breadth of flesh between bone-segments
1 am71x definition of yayr — Vi of nav
2 pa7 taught in re: nwx (length of Yna and 513)
3 77772 807 37 taught in re: 2 measuring sticks (nR+1/2 YaxR;nnR+1 YarR) —in “n77ana WV - v:» DY
4 77 for our mwn — Paxr of meat between segments of tail bone
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IV y mwn: omin of the testes which justify 122 nvnw / wp 11718
a  If:it has no testes or only one testicle
i Snppwr 1. if it has two sacs, it has 2 testes; if not — only has 1
ii 71 we put him on his back and squeeze - if it comes out, he has a 2" (in spite of only 1 sac)
b Correction (per ¥703): if it has 1 n¥»a and 2 sacs, or 1 sac and 2 n'¥’2 — 00
i Snypw /7. if it has only 1 sac, it is as if it only has 1 n¥»a and is a n"pa
ii ~ y”r we don’t rely on that but there is a test we can run
¢ Story: they ran this test, it didn’t come out and they slaughtered him — later finding testicle stuck to fats
i Rulings: y" permitted the 7121 to be eaten; 3”21 forbade it
ii  Arquments (per 8112273): " to 1727 — have to be more careful with YR1v”'s money
1 7 to y"™ — mustn’t feed them m%a)
(a) Challenge: it was properly slaughtered
(b) Rather: mustn’t feed them ma»v
(i) Challenge: it wasn’t an issue of ma»v
1. Rather: mustn’t feed them yna ow1p
V 1 mwn: extra or missing limbs that justify 1v71a/n0nw
a  Legs:if it has 5 or 3 legs or if its hooves are cloven like a donkey or %1nW or %103
i Note (81771 79): this is merely a mn if it is the forelegs; an extra or missing rear leg makes it a na»v
1 Reason: anything extra is considered as if it were removed (1on)
ii  Note (97): cloven hoof need not be unbroken; may even be split, yet it is a o
51w the thigh is displaced
c 5107 one leg is taller than the other
i Clarification (X117773): one leg is in the socket, the other is out (- taller)
ii ~ A7772 Y17V — meaning that one thigh is displaced; v19p — meaning that the hooves are cloven — both nmn
VI n mwn: broken limbs, X»’X’s additions
a  Broken limbs: if his foreleg (“hand”) or backleg (“leg”) are broken, even if not recognizable
i Challenge: if not able to be recognized, why is it a mmn at all?
ii  Answer: it isn’t recognized as is, but recognized when it walks
b A%~ reckoned all of these in N33’ — to which Bnan assented; then added 3 more that the o'nan had not heard of:
i “new pmn”: round eyeball (like a human’s); mouth like a pig’s or most of his tongue is cut out
ii  Later p7 n’x: confirmed these three and added them to the list of approved onmn
1 Challenge (to round eyeball): 2:3 011 that if she exudes something looking like 1 n'n ,ninna — must keep prop-
er days of N1y per n"
(a) And:1nv 7 explains his reason — since it has a round pupil like humans (normal for animal)
(b) Answer: depends if the white of the eye is round or the pupil
2 Clarification (of “mouth like pig’s” — 97): doesn’t need to be both sharp and upper lip hanging, as long as up-
per lip is hanging
3 Clarification (of “majority of tongue”): mwn per N’ '7; in RN»13, he explains 927100 117
(a) Meaning: most of the tongue which is loose
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